e Apsicard, o,

PO Box 508

Barton, VT 05822
Phone: (802) 525-9506
Fax: (802) 525-4616

www.jpsicard.com
Submittal Data Sheet

Submittal #: 2

Submission #: 3

Date: 1/19/2015

Project Name: Randolph BRO (1444) Bridge Replacement
Owner: Town of Randolph, VT

Engineer: VTrans

Contractor: J.P. Sicard Inc.

Item Number: 525.335, 621.725

Supplier: Lafayette Highway Specialties
Description of Item: Bridge Railing 525.335, Guardrail Approach Section 621.725
Subsitution: NO

Engineers Review Comments:

Submitted By: Brad Drake
Title: Project Manager
Company: JP Sicard Inc




58'-3" PAY LIMIT:

7 SPACES @ 7'-9" = 54'-3"
—|— 3011 1/2" — 301"
Fx JT. |
r:loinl — || 1 [} 1 I || 1 T 1 11 Fﬁoinl
1 1 11 11 [1 IT || 11
% I L L L L1 I P 3 il I.-|—L |
e 2o NORTH RAILING FACING NORTH 2o o
310"~ (SOUTH RAILING SIMILAR) 34—
1'_2"
10"
14" 7"
2 10" . SECTION A-A
: | 2 /_91/2'
2" Pary "
/ I ¢ 'é " 2; 37 E% <
n Ell
10" @ 11/8" (4x) " - KT
¢ 4] A &
1/8" FABRIC PAD voleror /. TP WPS-3008
DIA. ANCHOR
STUD (TYP.) l-—G OF POST
11/2"—=
1|_8" 3"
11/2"
‘ ~—6"— ' | | 1 1 _r _____ __i
, — & -
O A1 | LT ¥
> T T O\ et
" " n " " @—" k—
HSS 6" x 6" x 3/16 m 6 1172 16 \E. Torque Type Lock
AN I om | Nut, Washer And
W6 x 25— I Spring Lock
6"  o.gn ! Washer(Typ.)
T |1 [T S A 1
| L5" x 5" x 5/8"
HSS 5" x 8" x 14" ~; I 6‘ Railing Angle  ———__| o9 [
10 13/16" QF — {g ————— :e—'—— —————— |
- —B 3 —F-—=
12" x 1-1/4" x 10" = P e
Base Plate R '
1/8° FABRIC PA _\Jlﬁll T 4 | ; A [Jﬁ_ | A‘;
It | |l| ' I‘I
gl : : :~—(4) @ 1" x 13" ANCHOR STUDS H H
2 | W/ 2 1/4" THD. EACH END & f ' it
‘ (2) HEAVY HEX NUTS,

SECTION

(1) JAM NUT

AND (1) WASHERS EACH

\-¢_ OF RAILING ANCHORAGE

\

ELEVATION

STEEL BRIDGE RAILING

2"-0"
I —
O == 0
0o oY I
7
| 1 -
[ pe] |
‘A" = 10" @ WW 1 &4
‘At = 17 5/8'QVV &3
VIEW "C"_"C"
BILL OF MATERIAL
TEM ary | ParT # DESCRIPTION ASTM DESIGNATION
T | 16 [0033.03610 |Wox25, THREE RAIL PUST @ 29" DA ON 1 1/4xi0x1'—-2" BP. |AS72 Gr. 50
2 | 2 [0033.51321 |HSS 3’ X 5° X 1/4" RAIL @ 28'-11 1/2° AS00 Gr. B
3 | 2 [0033.51322 |HSS 3" X 5° X 1/4° RAIL @ 28-11" AS00 Gr. B
5 | 4 [0033.91323 |HSS 6’ X 6 X 3/16° RAIL @ 30'-11 1/’ AS00 Gr. B
6 | 4 (003391324 |HSS 6° X 6’ X 3/16° RAIL @ 30-11" AS00 Gr. B
8 | 2 [003300840 |2-1/8° X 4-1/4” FIX. SPLICE BAR @ 2'-3’ A572 Gr. 50
9 | 4 [0033.00640 |HSS 5’ X 5 X 5/16" FIX. SPLICE TUBE € 2/-3° AS00 Gr. B, AS72 Gr S0
10 | 16 |0033.00220 |3/8° X 107 X 14’ ANCHOR PLATES AS72 Gr. 50
11 | 16 0033.90050 |1/8" X 10° X 14° FABRIC PAD AASHTO M2S1
12 | 66% [0042.21013 |# 1° X 13° ANCHOR STUDS, W/ 2 1/4” THD. EACH END A449
13 [130%0080.18901 _|# 1© HEAVY HEX NUTS AS63
14 | 64 008018511 | 1 FLAT WASHERS Fa36
15 | 64 [0080.18905 |8 1© HEX JAM NUTS AS63
16 | 64 [0080.07500 |# 778" X 8° ROUND HEAD BOLT, NUT, S@ WASHER, LW. A449, AS63, F436, ASME DIB2
17 | 16 |0080.06400 |@ 3/4° X ©° HEX BOLT, NUT, <& F.W., & LW. A325, AS63, F436, & ASME D182
18 | 32 [0080.06140 |# 3/4° X 2-3/4" HEX BOLT, NUT, <@ F.W., & LW. A325, AS63, F436, & ASME DiB.2
19 | 16 |0080.06340 |8 3/4° X 7-1/2° HEX BOLT, NUT, & <& F.W. A325, AS63, & F436
20 | 8 [0080.06255 |# 3/4° X 4-1/2° HEX BOLT, NUT, & <2 F.W. 7325, AS63, & F436
21 | 16 |0033.00500 |L5" X 5° X 5/8° RAILING ANGLE € &' AS72 Gr. 50
72 | 6 DELINEATORS — NOT SHOWN (SUPPLIED BY CUSTOMER)
»%-2 EXTRA FOR VDAT TESTING

GENERAL NOTES:

1) ALL RAILING 1S TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD SPECIFICATIONS.

2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16".

3) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF BRIDGE RAIL POST IS 8' 3".
4) SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4

POSTS.

5) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN INTEGRAL ABUTMENT
BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT WIDTH SHALL BE 4"@ 68°F AND WILL BE
ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.
6) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD DRILLED HOLES TO BE
COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION.
7) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
8) SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING
OR THE NEAREST POST. WHITE 1S TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
INSTALLED ON THE DRIVER'S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER ITEMS.

9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT ACCORDING TO A PROCEDURE PROVIDED BY THE
FABRICATOR.
10) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE MINIMUM EDGE
DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END OF THE SLAB, OR THE EXPANSION JOINT RECESS POUR, IF ONE IS

USED.

11) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING SURFACES OF THE
BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.
12) THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL.

ITEM #: 525.335

| SHEET 1 OF 2

TOLERANCE
OTHERWISE

FRACTIONS
ANGLES
DIAMETERS

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

BRIDGE RAIL DETAILS SHEET

TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.

UNLESS
NOTED:

+ 1/16”

1/2°
+ 1/32”

i H g

DATE DESCRIPTION BY| R INO.|[ DATE DESCRIPTION BY|
1/14/15 [REVISED PER 1/13/15 MARK-UP|EP.| E
\4
ERTIED DRAWN | EP. | 1210/14
FELDERLEE,INC. U CHECKED | D.L. 1211714
0AKS CORNERS, NEW YORK 14578 APPROVED | . .
E-Mail: dlong@elderiee.com, epeek@elderlee.com SCALE SCHEMATIC
Tel:315—-789—-6670 Faz:315-789-6615 DRAWING NO. F.R. LaFAYETTE-RANDOLPH




BRIDGE POST

SPLICE BAR - FIXED

;11" Typ-
o

41/4"X21/8"X2' 3"
Galvanized Bar

DETAIL

i _—

Centerline of @ 1"
in Top & Bottom of
5" X 3" X 1/4" Tube (Typ.)

ELEVATION

FIXED BAR SPLICE

——10"

qron

I

N
N

’IWP—

O

/O

0]

Ko
/

HOLE FOR 1'/ b
DIA. ANCHDR

STUD <TYP)

[T

I-1 172"

WPS-3008

I—alil— 1 172"

20

2'-7 3/4" 25 1/2"

<.

T
i 4 1/2"
1

I
N\l o)

J
I Pwexes

r11/4"

—-r—3
10y—=| (~—t0}
al
P -
__[ A ]___“
PLAN

!
o3

N

|

|

|

i

i

|

{

{

|

|
:/V
|
<
]

5"X5"X5/M16"@2' 3"
Galvanized Tube WPS 3009

R 114 /29

4" X 1/4" X 26" Fill Plate
(Each side)

ELEVATION
FIXED TUBE SPLICE ASSY.

Centerline of @ 1"
in Top & Bottom of
5" X 3" X 1/4" Tube (Typ.)

(4) 3/4" Fully Threaded Bolts. 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Boit. Nut to be Finger

Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

SPLICE TUBE - FIXED

SPRING LOCK WASHER

3/16"x 2" x 2° WASHER 1 1/2"
HEX NUT / @7/8.._\ — P
(]
I IR,
1/8"
SLOTTED ROUND HEAD BOLT
| SHEET 2 oF 2

(4) 3/4" Fully Threaded Bolts. 4 1/2" Long { 'i‘ ;" ‘i" ‘i"
ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy WPS 3009 i i | |
FIXED BAR SPLICE ASSY. Hex Nut on each Bolt. Nut to be Finger Tight
and the First Thread below the nut to bt.a Typ>' 1/4" |>2»9 j
damaged A.O.B.E.. 4 Bolts at Each Splice. 4'x 1/4" x 26" Fill Plate ELEVATION
(Bottom) FIXED SPLICE TUBE
2"
=" | =
" | ¢ @ "
11
7l| __6"__
2" " " "
; [©° 58" 3
2" X i
8" A{ll i (L\ /IR _E} g" ' I!I I!I
10" ) \/ ) ' G\\m 3/16"
. | @1 1/16" (4x) (3X) ITEM #: 525.335
V¥ EP L5 x5 x 5/8" STRUCTURAL STEEL TO
COMPLY W/ ASTM A6
RAILING ANGLE /
%H ROADSIDE TOLERANCE UNLESS
J-_ | OTHERWISE NOTED:
-|—' HH I I ! —— FRACTIONS = + 1/16”
ANGLES = £+ 1/2°
ANCHOR PLATE DIAMETERS = £ 1/32”

BRIDGE RAIL DETAILS SHEET

TOWN HIGHWAY 85 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.

DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY|
1/14/15 [REVISED PER 1/13/15 MARK-UP[EP.| E
v
T DRAWN EP, 1210/14
Kg@g?jacmﬂsn
ELDERLEE [NC L ZFABRICATOR| E::&b;ig D.L. 12111114
Y/ O0AKS CORNERS, NEW YORK 14518 : -
—Mail: diong@elderlee.com, epeek@elderlee.com SCALE SCHEMATIC

Tel:316-789-6670 Fax:315-789-6615

DRAWING NO. F.R. LaFAYETTE-RANDOLPH




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#1

Material Specification AB72 GRD. 50 /A992-08a
Welding Process FCAW

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.20

Filler Metal Classification ~ E70 LINCOLN OUTERSHEILD

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50 CFM
Single or Multiple Pass SINGLE (45 TO 63 CFM)
Single or Multiple Arc N/A

Welding Current DC

Polarity DCEP

Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PERD1.5

Postheat Temperature NONE

Heat Input Min Max

+ WELDING PROCEDURE:

Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 3/32 390 27 12
Variable LIMITS 351 25 11 [_%

TO TO TO 1/2

429 29 13 /

2]
5

@D -
/

N/

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3008 Contractor  Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 5/29/2013




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A709 TO A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Spegcification Ab5.29
Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment D1.5

Preheat and Interpass Temperature D1.5

Postheat Temperature NONE

Heat Input Min Max

+ WELDING PROCEDURE.

Weiding Current

Pass Electrode Travel Joint detail
no, size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
1747

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3009 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 3/20/2014




32' - PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW HSS 6"x6"x3/16" Rail
@ 17'11-1/2"

o 1o
! HSS 6"x6"x3/16" Kickback

po o] e Y S [ —— 7[_@3.@@?2_&*’.-_ ..... T
ol " 1 : e L -~

0 0 i fi i i —| V ;"j;“ ) '7:\ "
T BOX BEAM TO ANGLE: 1 —'3 R 9 T0 GROUND @
—— I

'
I
:
]
I
X
1T
it
it
1

BOLT NOT REQ'D END OF TURN BACK

Last Bridge Post | | CV i
"C"v [1 1 o o non [ 'L".L NN R I: ) AR F" ,'I 5'1' - — L’ ) L—i :";_ JF" M
W6x0 Post @ 70" w/ Spade S3x5.7 Post @ 7-0" w/Spade S3x5.7 Post @.63" w/Spade S3x5.7 Post @ 3'-8"
@ 2|_0n SpaCIng — 6|_0|| I @ 3"‘0" SpaCIng = 15"0“ W/Spade

@ 2'-0" Spacing = 6'-0" (3ea.) T
s
2' 3| @ @

HSS 6"x8"x1/4" Tube

Ii[] &}\ E}/ Blockout @ 6"
o] (o]
ATA | , , I I I I I X I I I I
. o @ | @ ®! }

o ‘ / /
@ &
1/
GUARD RAIL TO BRIDGE RAIL TRANSITION
(18)
N, 4
—_— % 1 ‘ I I I I . I I 1
14 o i
| -+
-
| SHEET 10F 5

ITEM #: 621.725

lg______"___ 7 '% STRUCTURAL STEEL TO GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

|
!
O]

_____ ]/ COMPLY W/ ASTM A6 TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
a = = i | PROJEGT: BRO 1444(57), TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.
v At = 107 @ WV T@:'A"_. TOLERANCE UNLESS R{NO. | DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION _ |BY|
pr B -7 5/8° @ WW 2 & 3 OTHERWISE NOTED: E £
FRACTIONS = & 1/16 [¥ T = DRAWN 12012/14
nEyn |y ANGLES = = 1/2° e i a"}jﬁCERTIFIED EP.
- " ;. <FABRICATOR|| CHECKED L 12/15/14
VIEW "D"-"D , DIAMETERS = £ 1/32 ¥ ELDERLEE,INC. g APPROVED -
RY 0AKS CORNERS, NEW YORK 14518 . -
E—-Mail: dlong@elderlee.com / epeck@elderlee.com SCALE SCHEMATIC
Tel:315-789-6670 Fax:315-789-6615 DRAWING NO. F.R.L-RANDOLPH-T




PLAN VIEW

BLAN VIEW PLAN VIEW
. “ : PLAN VIEW
= o - r—|
1/4" X 8" X 24" SPADE r | & 1/4" X 8" X 24" SPADE I— *

EE :1/ X 8" X 32" SPADE
Y I Vi x s X 24" SPADE
.._I 1o
£

ot

2

g
T 5. 3o H iy
[ H c 3 7 "l_ 3 -|2§|- _l 2 I—_U%
&Y | [N 13716+ HoLe i 1.21_1 F . -4 o | —
| ' R caLv) i _ L3 Al 2 T & |y ' Na 136 HoLe
-+ s ) 4
5/8” HOLES I 1 T |LT—|- -1 [N 13/16" HOLE l | (FOR GALV)
(2) REQD ' 63 N . (FOR GALV) T!
@ 13 /16" HOLE 4 i 3 20" N_p 5/3" HOLES
| 16" | (FOR GALY) I l i REO'D |
] ) 1
" T
& | 2 5/8" SLOTS | J—"r i + I |
i Iy! (2x) | | 1 i a7 i
/ 1/4" ‘; 23/8" T
! 1 T\\-ﬂ 5/8" "W !
| ! !_ ! WPS 3022 2 I t| (6REQD) I |
| il | Ll i |
sae ! T VETT o presy:s . 1| H !
] I WPS 3022 | I WPS 3022 I | | |
\ H ] N | /W5X9'BEAM il | 114" [/ 2 318"
| | I VR VERT I -—-———| |—— - I WPS 3022
WPS 3022 i 2 if1 ' WPS 3022 i i\ i
[\ | | I 174 7 84"+1/8"
. (v exh I ! ! 7 | i i WPS 3022 i
| | I | \ b -
14" 2-10
/ I 13— | o |I| |
! 4'£1/8" Li _|_ WPS 3022 i i i
. | | CITEM # 3) w2 N I |
a1 ¢ WPS 3022 z ar 210
' L s FRONT SIDE I |
FRONT CITEM # 1) SIDE e sz ¥ i |
[} U [}
GENERAL NOTES: L | |,| | |
1) ALL RAILING IS TO BE FABRICATED AND EREGTED ACCORDING TO SECTION 525 OF WPS g022 i | i
THE STANDARD SPECIFICATIONS, Y2 158" 1 !
2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). 1 | | |
3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE s Iyl ,
PLAN VIEW ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. L l CITEM # 5> J_
N 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL | i BTV eTT I
=l BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED. WPS 3022
X6 X 24" SPADE 5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RAD! GREATER L 1 FRONT SIDE
THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE CITEM # 4
CUT" AND WELDED. CURVED RAILING WIIL HAVE AN 18" LENGTH ON EACH END FRONT SIDE
s & STRAIGHT TO ACCOMADATE SPLICES. "PIE CUTS ARE LOCATED SO AS TO NOT FRONT SIDE
il 2 I CONFLICT WITH POST FASTENING HOLES. PIE CUTS WILL BE WELDED ACCORDING TO
| - £s —L7 PROGEDURE WPS-3026.
o
g H | [N\ 13/16° HOLE HARDWARE NOTES
il | ¢FOR GALV> BILL OF MATERIALS (EACH CORNER) 1TEM # FUNCTION
"| TTEM #] QTY. [COMPONENT # DESCRIPTION MATERIAL (ASTM) 19 [BOLT RAIL TO SHELF ANGLE <ITEM H10)
! 1 3| 001357021 |3° 1-POST, PUNCH 8 W/SPD @ 63’ LG ASTM A572 Gr. 50 20 |BOLT SHELF ANGLE CITEM #S 10 & 1D TO POST
| | 2 3 | 001357025 |3° I-POST, PUNCH 87, & 20 W/SPD @ 63° LG ASTM A578 Gr. 50 21 |BOLT BLUCK-OUTS CITEM 'S 13 & 14 10 HEAVY POST
i i 3 2 | 001357060 |3 I-END POST W/SPD @ 3-8 LG ASTM A572 Gr. 50 22 |(4) PER SPLICE BAR (ITEM #9)
35" | r 3 0013.09001 |W6X9 POST € 7' W/SPD & 5/8° HOLES ASTM AS72 Gr. 50 23 [<4) PER SPLICE TUBING CITEM #'S 7 & 8
) - 5 4 0013.57010 |3” 1-POST, PUNCH 8 & 207, W/8X32’ SPADE @7 ASTM AS72 Gr. 50 24 |BOLT RAIL CITEMS 'S 6,17, & 18 70 BLUCK-OUTS CITEM ®S 13 & 14) [WHERE FASTENED]
| (4)5;&38*5 | 3 1 0033.80403 |3X5’ BTM TRANS RAIL W/5'-0° KB, EXP END AS00 Gr. B 25 |BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL CITEM #18) & KICKBACK (ITEM #1S)
i} ' 7 1 | 0033.00640 |HSS 5X5 TUBE SPLICE @27° LG W/ 174’ SHIMS AS00 Gr. B 7 AS572 Gr 50
|| | 8 2 | 0033.00730 |HSS S5x5 EXP TUBE SPLICE @ 36’ LG W/ 174’ SHIMS AS00 Gr. B 7 AS72 Gr 50
g ' g T | 0033.00930 |BR EXP BAR SPLICE 2-1/8° X 4-1/4” @ 36’ LG ASTM AS572 Gr. 50
i sasm || T CETS 10 | 19 | 0054.00050 |REG BB SHELF ANGLES € 4-i/2° ASTM A36
i ! WP 3022 2 T | 0054.00074 |HSS 5X5 DBL BEND TUBE SPL @ 27° LG, AS00 Gr. B 7 AS72 Gr 50
||ﬂ | 13 8 | 0054.00563 |6X8’ TRANS, TUBE B/0 € 6’ LG A500 Gr. B
ii\ i 12 3| 0054.00565 |6X8° TRANS, TUBE B/0 € 3 LG AS00 Gr. B
It Wes 302 ' 15 1 0054.09000 |6X6” BB @ 9-0° KICKBACK, W/ CAP, & 13° MITER A500 Gr. B /7 A36 TEM #: 621.725 SHEET D OF 5
%16 | 05 | 0054.18000 |6X6° BB @ 17'-11 1/2’, DRILL 3’ CC A500 Gr. B : . I
|| N | x17 T | 005490092 |6X6” BB TOP TRANS @ 20-9 5/8° LG W/EXP END A500 Gr. B
0 : . STRUCTURAL STEEL TO
| b | i AT A SR T [sTuerum sTee CUARD RATL T0 BRIDCE RATL TRANSTTION DETALLS SFEET
It . 5 18 | 008003355 |3/8° X 7 1727 BOLT, NUT, & 2 FW 3307, AS63, F436 TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
| | | 20 | 19 | 0080.04100 |i/2° x 1-172° BOLT, NUT, & FW 2307, A563, F436 PROJECT: BRO 1444(57), TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.
il | 21 | 22 | 0080.04120 |i/2° x 1-1/2° BOLT, NUT, 2 FW & LW A307, AS563, 436 TOLERANCE UNLESS DATE [ DESCRIPTION BY[ R[NO.| DATE| DESCRIPTION _ |BY|
22 7| 008006255 |3/4° X 4-1/2° BOLT, NUT, 2 FW A325, A563, F436 OTHERWISE NOTED: E
o H_ ! 23 | 12 | 0080.06340 [374° X 7-1/2" BOLT, NUT, @ FW A385, AS63, F436 FRACTIONS = + 1/16” v
R Il W e 24 6 0080.06370 [374° X 8" CARR BOLT, NUT, FW & LW A307, AS63, F436 ANGLES = + 1/2° «3 CERTFIEG_DRAWN E.P. 1212/14
WPS 3022 25 2 0080.06400 [3/4” X 8”7 BOLT, NUT, 2 FW, & LW A325, AS63, F436 DIAMETERS = + 1/32,, ELDERLEE,[NC ( D ZFABRICATOR|| CHECKED | D.L. 12/15/14
FRONT CITEM # 20  SDE X WW3 - TEWS 16, 17, & 18 - FACE OF RAIL T0 HAVE 110° CONCAVE RADIUS - &Y 04AKS CORNERS, NEW YORK 14578 APPROVED | . -
X WW4 - ITEMS 16, 17, & 18 - FACE OF RAIL TO HAVE 50° CONVEX RADIUS E-Mail: dlong@elderlee.com / epeck@elderlee.com SCALE SCHEMATIC
Tel:315—789—-6670 Fax:315-789-6615 DRAWING NO. F.R.L.-RANDOLPH-T




_|i_|_ _J_il_ 1°x7* HOR. SLOT
¢ 1 DRAIN HOLE 3/gana-ter TOP+BOTTOM
(WPS-3007) . .‘/ WPSH3016 4-REQ, (2w/SLOT) o\ )
1 e — 2 R N h
e ¢ X 4% SLOT - P — 7 =
41.. . = TOP VIEW . 11, —e ——h == —1"
| %2 I~ (TOP & BOTTOM . = -5 ——| —o1 = \
___________ r-—_—________—~_ T 1 L t 16 [— —' P "
5" ——c—ia-eé—-—-j— --------- ' J, g T 1+ — P \/5 3/4
——————————————————— i Z
1 | 1 2 @ \r\ L _l—-_,—_—_—'—___—_—_J_
I e IR 3§ X 5" X 3/8" ANGLE 1 B ;_3/ l / 1 "-2"
v ._aé. | 1]
CITEM # & TOP VIEW f@ PLAN VIEW 1-2" 1 E/;%l;é%ag
CITEM # 10>
3-10" e | T 11
1-10" TACK WELD DN\ HSS 57%5 x5/16\ | ! |
T e 174" END CAPA § I
—- —_It-—_g_—_'_T_':St'::_'_:'_T_-_T_-_jb_:-]_—_-_f_-_:-::‘:_—_'_:'_f_'_T_'_T_'_:-_:'_:':_—_'}— CITEM # 12 ' :
1%"—_"— \ 3"]— "Wo— p6e
@ 1 HOLES FRONT VIEW “B* - TURN DOWN ANGLE SET BY THE 9 MEASURMENT
(FRONT & BACK) AT THE END OF THE BOX BEAM.
BACK VIEW ——6"] ==}
‘ - [ | | | —3"
8" ‘-_.!—_ ___________ _-.I-_ _________________________ ——-4]_ ----- _-]o— = §"_ l_ 3 g"
= J- = e
ANGLE “B*, PER DOUBLE BEND SPLICE " " " — | .
(AS DETERMINED BY GROUND SLOPE DROP) 6" X 6" X 3/16” WELDE 6| | : & | + | L
END CAP, W/CUT CORNERS el
4_3_u | —+ | | _E_ —l
4 1 & | 4 I 31"
l | | | _il— 3|" i ‘é)'/:
|
1] O 5/8" 1. | .
TOP VIEW 14" po viey 2 o e 100
) (POST SIDE> (2X) Ciren w 1e  RALSDB 1D
3||__ 1
8 'i' i 15 05 (2%)
3 T i
& v | e 1%..1154}4/ |
6 % — / f 3" 3J_ | I\®1 " | 24"
" N T = - T T T T T T I T B ' ] BACK VIEV
\ |

CPOST SIDE>
f \@ \Q) l l (Ez%ET S\?DE%'/) T
) 1 "
778" /2"

(TOP & BOTTOMD (TOP & BOTTOM)D
—+— MITER @ 13° $ 5/8" HANGIN ITEM #: 621.725 | SHEET 30F 5
A s STRUCTURAL STEEL 1o CUARD RATL T0 BRIDGE RATL TRANSITION DETAILS SHEET
TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
PROJECT: BRO 1444(57), TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.
CITEM # 12D (TP & BOTTOMD TOLERANCE UNLESS R[NO. [DATE[ DESCRIPTION BY| R[NO.| DATE| DESCRIPTION _|BY|
OTHERWISE NOTED: E E
FRACTIONS = + 1/16" VL v ST T
ANGLES = & 1/2° K( }b{CERTIFIED L
= " ELDERLEE,INC. @ <FABRICATOR|] CHECKED [ D.L. 12/15/14
DIAMETERS = + 1/32 &Y 04KS CORNERS, NEW YORK 14678 APPROVED | :
E-Mail: dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-789-667Q_Fax:315-789-6615 DRAWING NO. FRL-RANDOLPH-T




7/8" HOLES ITEM 16

1.
—— 103 (TOP & BOTTOM

lll
45

172" HOLES
(TP & BOTTUOMD
O REQ'D

@7/8"
(TP & BOTTOMD

HSS 6x6x3/1 6"\

HOLES
105" —

ln
2

v 3_.1
5'1 14

1 §||
14-11%

1741 — ]

} THIS LENGTH, PAY ITEM 621.725

THIS LENGTH, PAY ITEM 621.30

e I ! |
= = I I i I - =
9778 HOLE
104 1'¢ x4 SLOT TP VIEW 172”7 HOLES TOP+BOTTOM
TOP+BOTTOM TOP+BOTTOM (TYPD 2 RE®'D a
JEO P 6 REQ'D r
antaid ~ + + 1 . ~ S
6" -
5'-10"
7'-10"
9-10"
11-10"
14'-10"
17'-10" .
20-98"
1 HOLES o o -
. FRONT+BACK (TYP.) SIDE VIEW N .
| 2 REQ'D %2
o /
}
1-10"
3-10" CITEM # 17D
. 172" HOLES
1’9 x4 SLOT DRILL ¢7/8* HOLE
[~ 108" MITER CUT FOR
4 — 1 “ /TDP"'BDTTDM TOP VIEW TUP+BDTTD2 TQTEYQE']; TDP+BDTTDM_\ 0’ KICKBACKS
: /@ 12-1/2°
Lt | | | I | | {
eI ] -I 6
510"
7'-10"
9-10"
11-10"
.
- i . ITEM #: 621.725 [ sHEET 4 oF 5
21'-48" 1
e STRUCTURAL STEEL 10 CUARD RAIL T0 BRIDGE RATL TRANSITION DETALLS SHEET
\/ \A/ / TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE #35
> FRONT+BACK (TYP.) SIDE 1E PROJECT: BRO 1444(57), TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.
| |_ 2 REQ'D TOLERANCE UNLESS R[NO. [DATE] DESCRIPTION BY| R[NO.[ DATE] DESCRIPTION _|BY]
& 1_{ / { OTHERWISE NOTED: E |-:
, FRACTIONS = + 1/16" [V e | e
110" ANGLES = £ 1/2° E E}Taz"‘“fcmmeo .
o DIAMETERS = :t/1/32" ELDERLEE,INC. @ <FABRICATOR| ;::IPER%ﬁg D.L. .12/15/14
CITEM # 18 C\\" OAKS CORNERS, NEW YORK 14518 -
E-Mail: dlong@elderlee.com / epeek@clderiee.com SCALE SCHEMATIC
Tel:315-789-6670 Fax:315-789-6615 DRAWING NO. F.R.L-RANDOLPH-T




SPLICE BAR - EXPANSION

274
214
e L
ole 2 e
' 2 4§ | 4'4
¥ Typ._‘ r-ﬁ b ) o J; Il
Q%ul 4%.._ PLAN 27/8“/ ]
TYP.
41/4" X 21/8" X 36" ole
Galvanized Bar | | | | s
[0 HH HH |
| | ELEVATION | I '

EXPANSION BAR SPLICE

CITEM & 9

HSS 5" X 5" X 5/16" @ 2' 3"
Galvanized Tube

4" X 1/4" X 26" Fill Plate
(Front & Back)

WPS 3009
Typ.

4"x 1/4" x 28" Fill Plate

(Bottom) ELEVATION

FIXED SPLICE TUBE

HSS 5"x5"x5/16" @ 36"
Galvanized Tube

Set@ 4" @68°F
4%"—

1"x4" SLOTS, TOP
& BOTTOM OF TUBE

¥ i e
vy

+ (&b db

7ﬁ WPS 3009
(::& dé T Typ.

/14" 1/2-10

1"x4" SLOTTED HOLES IN
TOP & BOTTOM OF HSS
5x3x1/4" (TYP)*

* DRILL SLOTTED HOLES
PRIOR TO GALVANIZING

4"x1/4"x35" Fill Plate
(Front & Back)

1 1 .L-l_._‘....

K (4) 3/4" Fully Threaded Bolts. 4 1/2" Long
ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy

EXPANSION SPLICE ASSY. Hex Nut on each Bolt. Nut to be Finger Tight Typ;
and the First Thread below the nut to be !
damaged A.O.B.E.. 4 Bolts at Each Splice. 4"x1/4"x 20" Fill Plate
(Bottom)
SPLICE TUBE - EXPANSION
—— ——-—12“

PLAN

Centerline of & 7/8"
in Top & Bottom of
HSS 6"x6"x3/16" Tube (Typ.)

(4) 3/4" Fully Threaded Bolts, 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger
Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

SPLICE TUBE - FIXED

ELEVATION
FIXED TUBE SPLICE ASSY.

CITEM # 7D

ELEVATION

EXPANSION SPLICE TUBE

ITEM_#: 621.725

CITEM & 8

EXPANSION SPLICE ASSY.

et @ 4" @68°F

I—E%"_I_Gu_l
1l

ELEVATION
EXPANSION SPLICE ASSY.

1"x4" SLOTS,
& BOTTOM OF TUBE

1"x4" SLOTTED HOLES IN
TOP & BOTTOM OF HSS
6x6x3/16" (TYP)*

* DRILL SLOTTED HOLES
PRIOR TO GALVANIZING

(4) 3/4" Fully Threaded Bolts.7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Bolt. Nut to be Finger
Tight and the First Thread below the nut to be
damaged A.C.B.

TOP

E.. 4 Bolts at Each Splice.

| SHEET 50F 5

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

TOLERANCE UNLESS
OTHERWISE NOTED:

FRACTIONS = * 1/16”
ANGLES = £ 1/2°
DIAMETERS + 1/32”

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

TOWN HIGHWAY 65 (PALMER ROAD), CLASS 3 LOCAL ROAD - BRIDGE # 35
PROJECT: BRO 1444(57), TOWN OF RANDOLPH, COUNTY OF ORANGE, VT.

DATE DESCRIPTION

BY} R [NO.

DATE DESCRIPTION BY|

FELDERLEE,INC.

OAKS CORNERS, NEW YORK 14518
E—-Mail: dlong@elderlee.com / epeek@elderlee.com
Tel:316—-789-6670 Fax:315-789-6615

DRAWN E.P. 12/12/14

CHECKED [ D.L. 12/15/14

E
\'
k{@)s ER TFED
< FABRICATOR

APPROVED

SCALE SCHEMATIC

DRAWING NO. F.R.L-RANDOLPH-T




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#3

Material Specification A500 GR B to A572 GR 50
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas cO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
* WELDING PROCEDURE
Pass Electrode Welding Current Travel ’ Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12 T - 3/16"~3/8"
TO TO TO
269 23 10 — Q-

B-UIVb~-F

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3007 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 712812014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A709 TO A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification AbB.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment D1.5

Preheat and Interpass Temperature D1.5

Postheat Temperature NONE

Heat input Min Max

' WELDING PROCEDURE.

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LEIMITS 341 27 12
TO TO TO
269 23 10
/4"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No, 3009 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A500 TO A572 GR 50
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A '
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Muitiple Arc SINGLE
Welding Current DC
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
t WELDING PROCEDURE
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
1/4~3/8"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 8.

Procedure No. 3016 Contractor  Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 8/4/2014




Material Specification

Welding Process

Manual or Machine
Position of Welding
Filler Metal Specification
Filler Metal Classification

Flux
Shielding Gas

Single or Multiple Pass
Single or Multiple Arc

Welding Current
Polarity

Welding Progression

Root Treatment

Preheat and Interpass Temperature

Postheat Temperature

WELDING PROCEDURE SPECIFICATION

A572 GR 50

GMAW

SEMIAUTOMATIC/ROBOTIC

FLAT/HORIZONTAL

A5.18

L-56 LINCOLN

N/A

90% ARGON /10% CO2 Dew Point -40DEG F Flow Rate 45CFH

SINGLE

SINGLE

DC

REVERSE

STRINGER

PERD1.5

PER D1.5

NONE

Heat Input Min Max
' WELDING PROCEDURE .,
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
045 190 22 19
Variable LIMITS 171 20 17
TO TO TO aﬂ
209 24 21 I-— —
T

nwi/4°/ 2-3/8"

ill 3 WELDS £A. SIDE
1 a7z @ EOUAL SPACES

174V 2-3/8"

This procedure may vary due to fabrication sequence, fit-Up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3022

Contractor Elderlee, Inc.

Revision No.

Authorized By RANDY SCOTT

Date 3/20/2014




	Submittal Cover Sheet #2 Sub 3 Randolph Bridge Railing and Approach
	Randolph BRO Submittal 2, 3rd Submission- Bridge Railing 525.335 and Approach 621.725 Drawings
	Randolph Bridge Railing 525.335
	Randolph Submittal 2, 3rd submittal - Railing 1
	Randolph Submittal 2, 3rd submittal - Railing 2
	Randolph Submittal 2, 3rd submittal - Railing 4
	Randolph Submittal 2, 3rd submittal - Railing 3

	Randolph Bridge Approach 621.725
	FRL-Randolph-T
	FRL-Randolph-T-WPS



